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Question No. 1

Read the following information carefully and answer the question given below.

Eight friends— A, B, C, D, E, F, G and H are sitting around a circular table facing the centre. Each one of
them likes different brands of television—Onida, Sony, Samsung, Micromax, TCL, LG, Toshiba and Sansui,
but not necessarily in the same order.

A sits third to the right of the person who likes Sansui. A does not like Samsung. E is not an immediate
neighbour of H. C sits on the immediate right of the person who likes Samsung. Neither A nor H likes TCL or
a Sony. The person who likes TCL is not an immediate neighbour of the person who likes Sansui. The person
who likes Onida sits second to the left of E. The person who likes Onida is an immediate neighbour of the
both persons who like LG and Toshiba. Person who likes Toshiba sits third to the right of B. B does not like
TCL. F is not an immediate neighbour of A. G is not an immediate neighbour of the person who likes Onida.
Only two people sit between the person who likes Toshiba and H. The persons who like TCL and the Sony
are immediate neighbours of each other.

Which of the following brands of television is liked by H?
A)Toshiba B)Onida
C)Sansui D)Sony

AT FeeR #F e ¥ 93 3R I RE 30 e Fr 3/ &1
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Question No. 2
115% is equal to which of these fractions?
A)20/3 B)23/20
C)20/23 D)3/20

115% 58 & 59 et & s &7

A)20/3 B)23/20
C)20/23 D)3/20
Answer Key : B Your Response : B (Correct)

Question No. 3
Seven years ago, the ratio of the ages of Ajith and Ganesh was 5 : 7. If the product of their present ages is
616, find the ratio of their present age.
A)12:13 B)11:14
C)15:17 D)17: 15

W a¥ 9gol, 3refier 3R 30T T 3 FT 3T 5 ¢ 7 ATl A FFHr GAART Y F AUEAB 616 8, ar T
FAAT 3G FT AT AT HY

A)12 : 13 B)11 : 14
C)y15 : 17 D)17 : 15
Answer Key : B Your Response : Not Answered

Question No. 4
Which of the following hormones stimulates milk production after child birth?
A)Prolactin B)Estrogen
C)Progestin D)Androgen

frafaf@a & ¥ 9 &1 geifa =3 & 5+ F 915 g T A 9RT F I Fr §?

A)vreifesT B) Uil
C)draitEest D)UuglsisT
Answer Key : A Your Response : A (Correct)

Question No. 5

The chemical formula K;SO4 represents-

A)Potassium sulphate B)Potassium chloride
C)Potassium nitrate D)Aluminium sulphate
TS g7 K,S04, #r fAeRa e

A)iIeRIga dethe B) 4R Felkiss
C)urefRze =rsee D)UedfAfIaH Hethe

Answer Key : A Your Response : A (Correct)

Question No. 6
Two buses start from the opposite points of a main road, 150 km apart. The first bus runs for 25 km and takes
a right turn and then runs for 15 km. It, then turns left and runs for another 25 km and takes the direction back
to reach the main road. In the meantime, due to minor breakdown, the other bus has run only 35 km along the
main road. What would be the distance between the two buses at this point?
A)85 km B30 km

| ——rr er—— o P i . 1
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C)65 km D)75 km

ar a¥, 150 freft i qfr W Rua ar Rigat & v gay #r 3R oo Y& el §1 Tgolr w9 25 Frdr worch ¥
3R g AN F3A & AR BT 15 Frelr =ereh @1 I8, A 91§ 37 oeh @ 3l O 25 fnelr woredr § 3R &7
5H o Tgaa & AT NS Hr I 73 ¥1 30 N9, ARG PSS F FRUL, GEY TH AT 5P W Hael 35

Frlt T 1 3 Rig WX QW Rt & v B gl R gee

A)85 el B)80 frafr
C)65 famedr D)75 frer
Answer Key : C Your Response : D (Wrong)

Question No. 7

A basic solution changes the colour of turmeric indicator from-

A)Yellow to red B)Yellow to black

C)Yellow to blue D)Yellow to green

i R, e qEF S @A aew S d

A I arer B)drer & ey

C)drer & afrel D)drer & &

Answer Key : A Your Response : Not Answered

Question No. 8

Find the ODD one out from the given options.

A)728 B)346

C)125 D)215

R e Rt 3 ¥ I P

A)728 B)346

C)125 D)215

Answer Key : C Your Response : C (Correct)

Question No. 9
Which Indian state has Agartala as its capital?
A)Mizoram B)Manipur
C)Tripura D)Nagaland

3R, F ARG TS T TouET §?

A fREiRa B)AfoIR
C)AqRT D)aRTeE
Answer Key : C Your Response : C (Correct)

Question No. 10
Which hormone protects the blood glucose from going too low?
A)lnsulin B)Oxytocin
C)Vasopressin D)Glucagon

ﬁamaﬁﬂweﬁmﬂa@maﬁ#mm
A)ggioe B) 3T

OV AT | — R — 7

Top



Answer Key : D Your Response : D (Correct)

Question No. 11
The white powder formed when magnesium ribbon burns is-
A)Magnesium carbonate B)Magnesium hydroxide

C)Magnesium sulphate D)Magnesium oxide

FHNRIA BId F Tl 9T Soa7 arell Tihe, I1I3ST AT giel 87

A)FeAfRR FEfae B)HTARIA grsgirass
C)FHTRIIeT Tethe D)FRRe 3iferarss
Answer Key : D Your Response : A (Wrong)

Question No. 12
In a certain code, 'CORNER!' is written as 'GSVRIV'. How can 'CENTRAL' be written in that code?
A)GIRYVEP B)GIRXEVP
C)GIRXVEP D)GIRXVPE

T AR e #, 'CORNER' # 'GSVRIV' far@r siiel &1 3¢t Fesimer # 'CENTRAL'® & forar smmm?

A)GIRYVEP B)GIRXEVP
C)GIRXVEP D)GIRXVPE
Answer Key : C Your Response : C (Correct)

Question No. 13
Which hormone is released during emergency situation?
A)Adrenaline B)Norepinephrine
C)Corticotropin D)Cortisol

TPl RAfY & e #ia ar g@fa sl aar &2

INNEZEIC) B)ARTTI=HIT
C) ces 3Auﬁ D) o
Answer Key : A Your Response : A (Correct)

Question No. 14
When was the first battle of Panipat fought?
A)1556 B)1661
C)1761 D)1526

U9 T Igel Jg H 3T IAT AT?

A)1556 B)1661
C)1761 D)1526
Answer Key : D Your Response : D (Correct)

Question No. 15
The radius of a circle increases by 5%. What is the percentage increase in its area?
AY10.5% B)10.25%
C)25% D)21.5%

el e ﬁwl ﬁ‘_?% ﬁqﬁ% @I S %Ié?ﬁ? aimh ﬁg’lﬁ maffvgrﬁnm gie T ﬁﬁm} I Top




C)25% D)21.5%

Answer Key : B Your Response : B (Correct)
Question No. 16

Which of the following is an alloy of copper and zinc?

A)Solder B)Brass
C)Alnico D)Bronze

fArfaf@a & ¥ @l A dfar 3R SET Hr By 82

A)Tres B)draer
C)udifatanr D)aHrar
Answer Key : B Your Response : B (Correct)

Question No. 17

Which of the following will best complete the relationship given below?

BFIJ : DHKL :: LOQT : ?
AINVSQ BINQSV
C)NSQV D)NQVS

frfaf@d F & =iq @A Ru o w6y # @8 als § qor wem?

BFIJ : DHKL :: LOQT : ?

A)NVSQ B)NQSV
C)NSQV D)NQVS
Answer Key : B Your Response : B (Correct)

Question No. 18
Which of the following is the hardest substance known?
A)Diamond B)Buckministerfullerene
C)Graphite D)lron

R=faf@a F ¥ Fi9 @ 39 aF 7 FoRaH qare §?

A)ERT B) TohfeEey ForleT
C)Iwise D)eirer
Answer Key : A Your Response : A (Correct)

Question No. 19
What is the thrust on unit area called?
A)Volume B)Surface area
C)Density D)Pressure

SIS 8B W Yolig(thrust) T FAT Fgl ST 872
A) 3raciet B)Ysar &rathel
C)&etea D)eIs -

| = P —— e w i e

Top




Answer Key : D Your Response : D (Correct)

Question No. 20

Find the ODD one out from the given options.

AV B)S

C)X D)T

R e Rt 3 ¥ T P

AV B)S

C)X D)T

Answer Key : B Your Response : B (Correct)

Question No. 21
1 is placed to the west of 2, and 3 is placed to the south of 1. What is the direction of 2 with respect to 3?
A)East B)South east
C)North east D)South

13 2 & gRed &F @ 7= §, 3T 3 A 1 & ST F @ 1w §1 3 F Fner 2 i forRr w2 2

AYgE B)ef&ioT qa
C)3eR qd D)afaror
Answer Key : C Your Response : C (Correct)

Question No. 22

What is the concept of spherical lenses?

A)Radiation of light B)Light refraction
C)Scattering of light D)Light reflection

TNNT o Fr ATUROT AT 82

A)TeRTer & fafeRToT B)WhIRT ST 3T9aciel

C)WehIRT ST Fehioie D)YehTST ST RTdciel

Answer Key : B Your Response : Not Answered

Question No. 23
Which of the following cities is nicknamed as 'City of Joy' in India?
A)Shimla B)Chennai
C)Mumbai D)Kolkata

RT & PR § O 5T 9 #1 39aw "RE 3w ST g7

INIREE! B)deeTs
C)Hss D)ahleTehTcr
Answer Key : D Your Response : A (Wrong)

Question No. 24
Rs.16500 is split into two fixed deposits for 2 years at 10% and 12% Simple Interest. If the total interest
received from the deposits is Rs.3620, how much was invested in the 12% scheme?
A)Rs.8500 B)Rs.10500
C)Rs.8000 D)Rs.10000
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%.16500 & g #RI 7 Renfad & 10% 3R 12% AR sOof W 2 a¥ & fav 9ae @t & @R
forar Smar §1 Ay S A o AR F 9od For ST 3.3620 B, 12% aren Aot F el afr R #r
TS A

A)%.8500 B)%.10500
C)%.8000 D)%.10000
Answer Key : C Your Response : C (Correct)

Question No. 25

Shubha Mudgal is associated with-

A)Classical dance B)Sports

C)Hindustani classical music D)Mural painting

T eI, o wefe

A) AT T B)@or

C)fgqEdmil e Hefley D)fafca =Ror

Answer Key : C Your Response : Not Answered

Question No. 26
The refractive indices of four substances A, B, C and D are 1.33,1.47, 1.71 and 1.65 respectively. In which
substance is the speed of light maximum?
A)B B)C
C)D D)A

IR 9erdf, A, B, C 3R D & 3mMadais e 1.33, 147, 1.71 3R 1.65 & g e & veer & =T
3FaH B 272

A)B B)C
C)D D)A
Answer Key : D Your Response : A (Wrong)

Question No. 27
Six bells toll in intervals of 2, 4, 6, 8, 10 and 12 seconds respectively. If all start tolling together, how many
times will they toll together in 30 minutes?
A)8 B)16
C)15 D)4

o: et wAw: 2, 4, 6, 8, 10 3R 12 FFs F e F Forcht & IR Tl v WY 0T Y& F, ar 7 30
e & fFdell IR Us AR Soier?

A)8 B)16
C)15 D)4
Answer Key : B Your Response : B (Correct)

Question No. 28

The Australian cricketer Ricky Ponting is also known as-

A)Rickster B)Ponter
C)Punter D)Ponts
Jrfaas frve faendr R difésr &t T ST g

A) | p— er—— o = E\ \‘Jrﬁ i . 1 Top




C)uecX D)qicH

Answer Key : C Your Response : D (Wrong)

Question No. 29
Ravi travelled 4 km straight towards south. He then turned left and travelled 6 km straight; he again turned
right and travelled 4 km straight. How far is he from the starting point?
A)12 km B)8 km
C)10 km D)18 km

TR ey gfRvor fr 3R 4 Bl Torar §1 AR 9 a1 AR Fsar § AR @Y 6 Rl Toar & 9 AR & TS 3R
5T & 3R A 4 Bl Torar 81 95 IRiPeE Wg F frae gt W g

A)12 Rty B)8
C)10 frsf D)18 freir
Answer Key : C Your Response : C (Correct)

Question No. 30

How many electrons are there in one Coloumb of charge?

A)625 x 10?2 electrons B)0.625 x 10° electrons
C)6.25 x 10'® electrons D)62.5 x 10'2 electrons

TF FHoldd IAY 7 frcer gl gia 82

A)625 x 1023 sorerelad B)0.625 x 103 soerelel
C)6.25 x 108 saFereT D)62.5 x 103 salFeier

Answer Key : C Your Response : C (Correct)

Question No. 31
If 20 Coulombs of charge passes a point in a circuit in 1 second, what is the value of the current flowing?
A)20 Ampere B)5 Ampere
C)10 Ampere D)15 Ampere

I v URuY 7 el fig § 1 Aehs & 20 FoH AT IoRaT 8, o IHH Yalfed URT H1 AT A1 AT

A)20 TRRTRR B)5 TRPHR
C)10 TfFRR D)15 TfPmR
Answer Key : A Your Response : Not Answered

Question No. 32
Two pipes P and Q can fill a tank in 40 minutes and 30 minutes respectively. Both pipes are opened
simultaneously and after 10 minutes pipe Q is closed. In what time after this will the tank get filled up?
A)16 minutes 40 seconds B)16 minutes
C)15 minutes D)15 minutes 20 seconds

& T P 3K Q s EF & w40 e 3R 30 Rae 7 R gwa €1 Sl ST T I @ S @ 3R
10 fAde & 91§ BT Q H §§ F} AT ST g1 T8 915 fhasr A H &F | Smwam?

A)16 fAee 40 Qs B)16 feTe
C)15 fiere D)15 f@ie 20 dhs
Answer Key : A Your Response : A (Correct)

uestion No. 33
Q Top
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A)Badminton B)Tennis
C)Hockey D)Football

g Rz Aefaf@a § ¥ fve @ & d6fta 2

A)dsfHesT B)cfaw
C)gldr D)pesirer
Answer Key : C Your Response : D (Wrong)

Question No. 34
What is the total number of members nominated by the President to the Lok Sabha and the Rajya Sabha?
A)12 B)18
C)14 D)16

Tsgafer G@RT AiehasT 3R ToaweT & Feila Geedl BT For GEAT Rhclr gl &2

A)12 B)18
C)14 D)16
Answer Key : C Your Response : C (Correct)

Question No. 35
Who among the following discovered an Earth-sized planet, HD 21749b using Transiting Exoplanet Survey
Satellite in 20197
AINASA B)APSCO
C)ACAE D)ISRO

famfaf@a & & fraer 2019 # giffder wedcaee ¥ Aease # 3udhT F, Jedr % AR F T I8, HD
21749b &1 @t F?

A)NASA B)APSCO
C)ACAE D)ISRO
Answer Key : A Your Response : Not Answered

Question No. 36
Find the area of the card board that is required to make a box of size 10 cm x 8 cm x 4 cm.
A)412 cm? B)388 cm?
C)304 cm? D)488 cm?

10 T x 8 [ x 4 A FT ST T & AT IMAIF I T TPl AT P

A)412 T2 B)388 HcIHeI?
C)304 T2 D)488 T2
Answer Key : C Your Response : C (Correct)

Question No. 37
If the manufacturer gains 10%, the wholesale dealer gains 15% and the retailer gains 25%, then find the cost
of production of a table, if the retail price was Rs.1265.
A)Rs.800 B)Rs.750
C)Rs.850 D)Rs.900

31265$mwamwﬁaﬁmmmmu zrﬁﬁﬂiara»‘rm%wwam% IR Ag,
=marY &Y 1R% s = = sl =) 1




A)%.800 B)%.750

C)%.850 D)%.900

Answer Key : A Your Response : B (Wrong)
Question No. 38

Which of the following is a metalloid?

A)Zinc B)Copper

C)Germanium D)Aluminium

farafaf@a & & sl v suenqg 82

A)STEAT B)draT

C)sid ez D)veg#ifaras

Answer Key : C Your Response : C (Correct)

Question No. 39
In a certain code, 'gri chri' means 'brand new', 'gyp twoh' means 'very old', 'gri bur twoh' means 'old and new'
and 'chri deh twoh' means 'old brand car'. Which of the following codes denotes 'new car'?
A)twoh deh B)deh gyp
C)chri gri D)gri deh

wF fAfRae FHesmsr #, 'gri chri' T Aol 'brand new' 8, 'gyp twoh' & Fde 'very old' §, 'gri bur twoh' T
Ade 'old and new' 31X 'chri deh twoh' T #Adei 'old brand car &l F==faf@d #F & FAsr ATAT 'new
car grem?

A)twoh deh B)deh gyp
C)chri gri D)gri deh
Answer Key : D Your Response : A (Wrong)

Question No. 40

How many triangles are there in the givenfigure?

N
N

A) B)
32 29

C D
) 27 )25
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o sy 3t e Pt 2

A) B)
32 29
C D
) 27 ) 25
Answer Key : A Your Response : B (Wrong)

Question No. 41
How many gold medals did India win in the Special Olympics Games 2019?
A)85 B)50
C)100 D)60

Y 3 @er 2019 3 AR & v EUT g Sila?

A)85 B)50
C)100 D)60
Answer Key : A Your Response : Not Answered

Question No. 42
In how many years will a certain sum of money double itself at 5% Simple Interest?
A)18 B)15
C)22 D)20

e ast & & fAREa TRY 5% WUROT Ao W Fad $r AT 8 SeE?

A)18 B)15
C)22 D)20
Answer Key : D Your Response : D (Correct)

Question No. 43
There are three cans of milk containing 36 litres, 45 litres and 72 litres. Find the biggest measure that can
measure all these exactly.
A)9 litres B)8 litres
C)7 litres D)15 litres

36 oIy, 45 oY 3R 72 X AT & gy & i B §1 98 wa@ 99 A9 AT Ao, O o7 it 7
qoferar AT ST FH

A)9 oieX B)8 @iieX
C)7 aex D)15 ofex
Answer Key : A Your Response : A (Correct)

Top
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In this question, two statements are given followed by two conclusions. Choose the conclusion(s) which best
fit(s) logically.

Statements:
1) Some books are cars.
2) Some cars are boxes.

Conclusions:

I. Some books are boxes.

Il. All boxes are cars.

A)Both conclusions | and Il follow B)Only conclusion | follows

C)Only conclusion Il follows D)Neither conclusion | nor Il follows

39 WeeT H, o FYEl & oG A ARy R v §1 3w fased 3if) A 9o S arfde w7 & wed 39geT &

Yot
1) 3o e, R

2) F& FI, S §

frss:

. T& fram, s 1

Il. Tefr ster, F &

A)alar sy | 3R 11 3uged gl B)shder foisehy | 3ugerd gl
C)dhael fasshy Il 39gerd g D)alT at foisshy | =7 &1 || 39gerd &
Answer Key : D Your Response : B (Wrong)

Question No. 45
Sum of ages of father and son is 8 years more than the age of mother. Son was born when the mother was
22 years. How old is the father?
A)36 years B)40 years
C)38 years D)30 years

ar iR g7 S 3/ Fr AT, A fY AT F 8 9 HAF ¥ 9T F Few F wHT A Ay g 22 aF oA Bar

& 3Ty Tt 87

A)36 a§ B)40 Ty

C)38 ay D)30 Ty

Answer Key : D Your Response : D (Correct)

Question No. 46

Top




Choose from the alternatives the figure that best completes the

pattern given below.

A) ‘ B)

few a7 el # ¥ 98 Apia g, AT A T AT ST @ g e
il

A) B)

v

(7

Your Response : C (Correct)

C) D)

Answer Key : C

Question No. 47

Choose from the alternatives the figure that best completes the

N\~

pattern given below.
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A)

0

D

fgw a7 foepedi F ® 98 Apla g1, AT A T T Yo H T e

&l

91/101

3/10

NN

“10

e

D)

B)

D)

VO
%

]

N

DN

W%

101/10
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A)

91/101

0

3/10

Answer Key : B

Simple epithelium is-
A)Two cell thick
C)One cell thick

A 3YFT gl 81
A)ET PR F T A
C)us HIfAPT & sRT&EX HEr

Answer Key : C

What is the normal pulse rate of humans?
A)2 beats per second
C)97 beats per minute

AN T WHART Thea &1 (o0 I€) T 872
A)2 §ic gfa TS
C)97 de ufa MAee

Answer Key : D

Which of the following is known as 'Dry ice?'
A)Liquid carbon dioxide
C)Carbon monoxide

B)

L2

D)

101/10

Your Response : B (Correct)

Question No. 49

B)AIl of the options
D)Two to three cell thick

B)se#t & |eh
D)a & AT AR F W A

Your Response : Not Answered

Question No. 50

B)80-90 beats per minute
D)70-80 beats per minute

B)80-90 dIc wfay fAee
D)70-80 drc wfay fAee

Your Response : D (Correct)

Question No. 51

B)Solid carbon dioxide
D)Gaseous carbon dioxide

frfaf@a # & B gk 9% F & F ST ST g2

A)gd FTeeT STS3TFAES
C)FIee AAI3iTFass

Answer Key : B

B)3I Fle IS3TFASS
D) Fea SS3TFassS

Your Response : B (Correct)

Question No. 52

Which element has the greatest tendency to attract electrons?

A)Boron
C)Sulphur

B)Fluorine
D)lron

farfaf@a & ¥ fFw aca & sorglal 1 IR F& A vgfaT waifts @l 82

A\ FrITT = ™

—e———— Y . 1
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C)Teh D) 3T

Answer Key : B Your Response : B (Correct)

Question No. 53
The variance of 5 values is 16. If each value is doubled, find the standard deviation of the new value.
A)8 B)16
C)10 D)4

5 At 1 aee 16 §1 I T AF AT QAET & AT, A JAT AT F AT {Jeeli(standard deviation) FTT
|

A)8 B)16
C)10 D)4
Answer Key : A Your Response : Not Answered

Question No. 54
The sum of the digits of a two-digit number is 15 and the difference between the digits is 3. What is the two-
digit number?
A)96 B)78
C)128 D)69

ar 3 arely &I & 3l F Aer 15 § 3R 3t @1 3aX 3 B @ 3 gl 9Ed T A hife)

A)96 B)78
C)128 D)69
Answer Key : A Your Response : A (Correct)

Question No. 55
What is the primary standard level for carbon monoxide for assuring air quality?
A)90 ppm B)1 ppm
C)9 ppm D)10 ppm

arg Hr ITae GARET A F AT Fdar AAiFaEs F1 WARF AT T Rher §?

A)90 ppm B)1 ppm
C)9 ppm D)10 ppm
Answer Key : C Your Response : Not Answered

Question No. 56

Pellagra is caused through the deficiency of-

A)Ascorbic acid B)Niacin

C)Riboflavin D)Folic acid

Jelarm $r FA F FROT BT B

A)TERITaS TAS B) fanf&sr

SNECIETIEE D)wifersr Tias

Answer Key : B Your Response : B (Correct)

Question No. 57
Two motorists travelling in opposite directions meet at some point in between. After this they take 9 and 16

hours to reach their respective destinations. What is the ratio of their speeds?
AR - R | — S— gy T | 1
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C¥4:7 D)4 :3

odfia fRmit & arr w6t e & A wew S #F R Big w fad § 58% 918 3% 39 dider ' e

o TgT H AR 9 3R 16 UE T §| IR el T AT FAT §?
A)5 : 3 B)5 : 4
CY4 .7 D)4 : 3

Answer Key : D Your Response : D (Correct)

Question No. 58
Find the ODD one out from the given options.
A)Driving

B)Diving
C)Sailing D)Swimming
fRw a1 RAsmedt & & et #r gl
A)grsfaaT B) aieraiy
C)AtreT D)cRrehr

Answer Key : A Your Response : A (Correct)

Question No. 59

Choose the alternative that best replaces the question mark(?) in the

given figure.

[ ‘\D)
/::‘\.
&)
=) /‘;‘.\
(@4) @)_le
A B
)4 )6
0) )
& 7

39 feeT & 999 H, S HHT A oA RET (7) F TE W
A & T Fafead F9gFd el

A)

e e e e e . 1
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0) D)

Answer Key : A Your Response : A (Correct)

Question No. 60
An atom has a mass number of 23 and atomic number 11. The number of protons is-
A)11 B)23
C)12 D)22

Teh GTAIY] T godale §edr 23 RG] wHih 11 §1 Wil B FEar Ad i

A)11 B)23
C)12 D)22
Answer Key : A Your Response : C (Wrong)

Question No. 61
If 54321A is divisible by 9, then find the value of 'A’.
A)2 B)0
C)3 D)4

i 54321A, 9 ¥ Qetsx §, dF 'A' &7 AT 79 fifew]

A)2 B)0
C)3 D)4
Answer Key : C Your Response : C (Correct)

Question No. 62

Find the wrong number in the given series.

246, 232, 220, 204, 190

A)220 B)246
C)190 D)204
ar Rl Aoft 7 e FEwr I

246, 232, 220, 204, 190

A)220 B)246
C)190 D)204
Answer Key : A Your Response : Not Answered

Question No. 63
Which of the following is the most abundant source of iron?
A)Eggs B)Green vegetables
C)Milk D)Beans

fAFfaf@d & @ Sl & IR T TEW TR AT 82

P ———r ~7 .
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C)gyr D)wferar

Answer Key : B Your Response : D (Wrong)

Question No. 64
A pipe can fill a cistern in 20 minutes, but an outlet can empty it in 28 minutes. When both the pipes are
opened, in what time is the cistern filled?
A)96 minutes B)72 minutes
C)56 minutes D)70 minutes

T U159 U & H 20 fAae & o gohar &, AT v Rl uisT 38 28 fAse i @l FT Fhar g1 sia
AT 9T @i S §, a <hr fhae ET # sR Seehr?

A)96 fAeTT B)72 fA=ic
C)56 fAeTe D)70 faere
Answer Key : D Your Response : D (Correct)

Question No. 65
What is the force required to keep the object sliding on a surface with the same speed?
A)Sliding friction B)Static friction
C)Rolling friction D)Contact friction

el o @1 el T W @A afd @ e T & v Sy go v araegesdr gidr 82

A)adt gdor B)Tdfae ot
C)eltefae (ifefar) edor D)dus &g
Answer Key : A Your Response : Not Answered

Question No. 66

Choose the alternative that best replaces the question mark(?) in the

given figure.
e = ~....,“
() ()
A B
) 4 )3
C) D)
5 6

Top
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37 oFeT & IO ®Y, S AHT H T TES (?) F TUH W™
I % T wafead 39 2l

A B
) 4 ) 5
C) D)
5 G
Answer Key : A Your Response : A (Correct)

Question No. 67

E-shakti, a project on digitisation of self-help groups, was launched by-

A)RBI B)IMF

C)SEBI D)NABARD

I eI G F Bfoedeor $ir v aRisE, $-afEa @ SaRT & AT I A
A)RBI B)IMF

C)SEBI D)NABARD

Answer Key : D Your Response : D (Correct)

Question No. 68
What is the nature of the commonly used tooth paste?
A)Neutral B)Acidic
C)AIl of the options D)Basic

WA SgF CUUEE T wepfar &= 82

A)3erieT B) 31F el
C)zaH & Fefr D)&TT
Answer Key : D Your Response : B (Wrong)

Question No. 69

With which game is Bhagyashree Thipsay associated?

A)Swimming B)Chess

C)Football D)Badminton

sl Al fFe g ¥ Hefta §?

INGREDS B) 2Tt

C)pedier D)ssffeesT

Answer Key : B Your Response : Not Answered

Question No. 70

Perfect square numbers ending with '1' will have their square roots ending in

. . | ——rer Fer——— oy e — i . 1
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C)lor9 D)3

"' § AT B arelr QUi et WAt & adiegat @ sifaw 3w gl
AYFad 9 B)&ae 1

C)1 T 9 D)3

Answer Key : C Your Response : C (Correct)

Question No. 71
Which political leader was popularly known as 'Chacha?"
A)Subhas Chandra Bose B)Jawaharlal Nehru
C)Bal Gangadhar Tilak D)Mahatma Gandhi

R TSIaT Y AT §T § IET Fghd GaAd FHAT Sar an?

A)gHY =g S B) STdTeIelTel SIg®
C)aTel PR e D)HgTcAT IMed
Answer Key : B Your Response : B (Correct)

Question No. 72

Find the wrong number in the given series.

14, 20, 29, 39, 56, 74

A)39 B)29
C)20 D)14
ar ardr Aol F arera e g

14, 20, 29, 39, 56, 74

A)39 B)29
C)20 D)14
Answer Key : A Your Response : A (Correct)

Question No. 73

How many odd days are there in the first 2000 years?

A)2 B)4
C)3 D)0

Tge 2000 aut 7 Rreer v et gy 82

A)2 B)4

C)3 D)0

Answer Key : D Your Response : D (Correct)

Question No. 74

|

I e — A = ———y—
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In the given figure, the circle represents graduate, triangle represents
working people, and square represents post graduate. Which region
represents graduate and post graduate but not working people?

A) B)

0) D)

& T B I, Ted, ToleTenl o1 forwfired oheell &, Fefer HETRT A1 owfid Yer ¢,
3R eal, ORI Pl T AT §1 Hlete &1, Tolldehl 3R URReoIlclehl Bl
TR &Yl & Toheg BIHIART T AR1?

A) B)
D
G
C D
) F )
C
Answer Key: C Your Response : C (Correct)

Question No. 75
P and Q can individually do some work in 60 and 75 days respectively. They started working together. But P
left after sometime. Q completed the work in another 30 days. In how many days after starting the work did P
leave?
A)24 B)20
C)25 D)32

P 3R Q F$ FRF 3eRT 3re9T HA: 60 3R 75 @l & T Fhd §1 T T WY FHA FGA YE T &1 At
P& 5o ¥7g 91 F# o5 e Q @ 3k 30 Rel F & & qu fBraml F7o7 g% gt Bt Ry g P &
1 BI5 e

A)24 B)20
C)25 N2

e e e e e e —— . 1
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Answer Key : B Your Response : B (Correct)

Question No. 76

Enzyme ptyalin is seen in -

A)Gastric juice B)Pancreatic juice

C)Intestinal juice D)Saliva

USH Il & urm e #

A) AR I8 B) 31T T

C)31a D)eX

Answer Key : D Your Response : Not Answered

Question No. 77
If (10.24 x 10.24) - (10.24 x A) + (0.24 x 0.24) is a perfect square, then find the value of 'A'.
A)0.24 B)0.36
C)0.48 D)0.12

I (10.24 x 10.24) - (10.24 x A) + (0.24 x 0.24) YoT &9F §, & 'A' & AL AT HfAC

A)0.24 B)0.36
C)0.48 D)0.12
Answer Key : C Your Response : Not Answered

Question No. 78
In which part of the human body would you find the smallest bone?
A)Knees B)Fingers
C)Ears D)Nose

AT R & T ST F A9 o1 g2 A ¥

A)ge B)3erelr
C)aleT D)sten
Answer Key : C Your Response : C (Correct)

Question No. 79
In this question, two statements are given followed by two conclusions. Choose the conclusion(s) which best
fit(s) logically.

Statements:
1) Some bags are chocolates.
2) Some cakes are chocolates.

Conclusions:

I. All cakes being bags is a possibility.

Il. Some bags are cakes.

A)Neither conclusion | nor Il follows B)Only conclusion | follows
C)Both conclusions | and Il follow D)Only conclusion Il follows

Top




30 WA A, & FYA & a1 & By Re aw §1 37 e (3ff) #F 9o S aifer § F w9 39 &

T
1) F& ¥, diwac g1

2) o ¥, dArFac 8

sy
|. gofr hep T AT gleT hr Hama=T 2l

Il. F& 37 F5
A)aT ar fasey | & g 1l 39ged Bl B)hder sy | 3ugerd gl
C)awt forsey | 3R 1l 397 € D)ael foseRy || 3uged

Answer Key : B Your Response : C (Wrong)

Question No. 80
Profit percentage earned by selling an article for Rs.1920 is equal to the loss percentage when the article is
sold for Rs.1280. At what price should it be sold, if the profit is to be 30%?
A)Rs.2060 B)Rs.2040
C)Rs.2080 D)Rs.2000

foRel &g 1 $.1920 # e T HISIT AT F HfAerd, 3@ T&G H €.1280 H 99 W §F @i F gfoRd &
T & I 30% T I HTA &, aF 50 FFE Hea T 9= e =fgw?

A)%.2060 B)%.2040
C)®.2080 D)%.2000
Answer Key : C Your Response : C (Correct)

Question No. 81
What is the area of the sector covered by the hour-hand of a clock while moving from the number 12 to
number 3, if the length of the hour-hand is 7 cm?
A)70 cm? B)38.5 cm?
C)17 cm? D)35 cm?

129 3 % S W U & H-arel G§ GaRT aF AT I sEwe Far g, Ay ge-arelr g$ i ofars 7 delr
8?

A)70 a3t J#HY B)38.5 adT {aT
C)17 Tat =t D)35 FaT T
Answer Key : B Your Response : C (Wrong)

Question No. 82

What is the frequency range of ultrasound?

A)Between 20 Hz and 20 kHz B)Between 200 Hz and 2000Hz
C)Below 20 Hz D)Above 20 kHz
Hegrr3s i 3gica I T 87
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C)20 Hz ¥ T D)20 kHz & 3o

Answer Key : D Your Response : D (Correct)

Question No. 83
How much work is done when one Coulomb charge moves against a potential difference of 1 Volt?
A)1 Watt B)}1 Ampere
C)1 Coulomb D)1 Joule

T FHoH AT FH 1 dlee F RAER W TR Fel R Fherelr F gam?

A)1 are B)1 TP
O Felld D)1 Sfel
Answer Key : D Your Response : A (Wrong)

Question No. 84
What is the important use of coke?
A)As an oxidising agent B)As a fuel for industrial boilers
C)As a fuel in domestic ovens D)As a reducing agent in the extraction of metals

TR & P () T FAgeaqur STAET F4T 572

A) 3itFieReT 3ifdewas & ®7 7 B) 3l sTaert & fow $ua & &7 &
C)eRe] 3iaT #F S & &7 #F D)errcg3it & forshdor o e e & w7
Answer Key : D Your Response : Not Answered

Question No. 85
Ages of father and son add up to 50. Six years back father's age was 6 more than thrice his son's age. What
will be father's age 6 years hence?
A)40 years B)42 years
C)50 years D)48 years

Rar iR g7 i 3y F AT 50 &1 o7 9 ggd War fr Y 9T A IY F AT A A 6 3AF M 6 a§ 71

ar i 317 T2 grefi?

A)40 T§ B)42 ay

C)50 a¥ D)48 a¥

Answer Key : B Your Response : B (Correct)

Question No. 86
Ten observations written in descending order are 45, 34, 32, 30, 2x- 13, x + 1, 17, 15, 14 and 8. If the median
is 24, then find 'x'.
A)15 B)18
C)20 D)12

3G FH F O T g W&TUr 45, 34, 32, 30, 2x - 13, x + 1, 17, 15, 14, 8 Hr AfCFHI(median) 24 FI'x'
FT AT AT

A)15 B)18
C)20 D)12
Answer Key : C Your Response : Not Answered

uestion No. 87
Q Top
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Find the missing number in the following series.
0,7,26, 63,124, (...), 342

A)214 B)213
C)215 D)216

Frfaf@a Jofr # quRtya der A fifsel

0, 7, 26, 63, 124, (..), 342

A)214 B)213
C)215 D)216
Answer Key : C Your Response : C (Correct)

Question No. 88

Leukoderma is a disease of the

A)Throat B)Skin

C)Eyes D)Liver

SR o dad ¥

A)drer B)ca=r

C)3it@r D)I&d

Answer Key : B Your Response : B (Correct)

Question No. 89
In a shooting test, the probabilities of hitting the target are 1/2 for A, 2/3 for B and 3/4 for C. If they fire at the
same target, what is the probability that only one of them hits the target?
A)1/4 B)2/3
C)1/6 D)3/8

T YRT TET H, T A e A IRFAC AF v 12, BF v 23 iR CcH R s g aRa ww &
8 W fRIeT oer §, o 39 & Fad Ue qarT R A et Hr ST R g7

A)1/4 B)2/3
C)1/6 D)3/8
Answer Key : A Your Response : Not Answered

Question No. 90

Read the following information carefully and answer the question given below.

Seven executives— T, U, V, W, X, Y and Z are sitting along a circle facing the centre. T is between Z and W.
V is second to the right of W and is between U and Y. U is not the neighbour of X.

Who sits to the immediate right of U?

AW B)X
C)Y D)V
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Ffaf@d IRt @ & & 9¢ 3R T Be a0 e # 3cr/ &)

e 3FR- T, U, V, W, X, Y 3R Z t& gea & aRT 3R S e 88 81T, Z 3k W & & 3 Sor

TV, AWHFIEIN G WF RIS, UR Y & & 81 U, X F o1 F a7gr o Bl

U & 8% a5 3T FleT ST §7?

A)W B)X
C)Y D)V
Answer Key : D Your Response : D (Correct)

Question No. 91

A motorcyclist covers a distance of 192 km at a speed of 32 km/h. A car starts from the same place as the
motorcyclist 2.5 hours later, but covers the same distance 0.5 hour earlier. What is the ratio of the speed of

the car and the motorcycle?
A)4:3 B)3: 1
C)1:2 D)2 : 1

T AT FEfFe o 192 fRelr @ g 32 frelifder f @ § a7 FRar &1 AasiFd o F dem &
25 BT 91 TF FR I SO @ ToRAT Y& FCA ¢, dfdeT 0.5 6 vgd 3 gt A aF W o §1 FR AR

Aletarsiher T =Ter T AT AT 82

A4 : 3 B)3 : 1

C)1: 2 D)2 : 1

Answer Key : D Your Response : D (Correct)

Question No. 92

Find the ODD one out from the given options.

A)BD B)CE

C)MN D)EG

R M Reost 3 A I B G

A)BD B)CE

C)MN D)EG

Answer Key : C Your Response : C (Correct)

Question No. 93
Which of the following defence satellites of India was launched in 2019?
A)GSAT-6A B)EMISAT
C)IRNSS-1I D)RESOURCESAT-2A

RT & Afaf@d BT 3R & I T ar 2019 F wafa fFar =r ar?

A)GSAT-6A B)EMISAT
C)IRNSS-11 D)RESOURCESAT-2A
Answer Key : B Your Response : Not Answered

Question No. 94

- a - F P —— CE e S ~ 5l
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A)Their denominators other than 10, 100, 1000 etc.  B)Their denominators as powers of 10
C)No representation on the number line D)Their numerators greater than denominators

WROT Besit 7 Awfaf@d & § e @1 o7 ger 82
A)3a% &C 10, 100, 1000 37fe 1 @izt gl g1 B)3+i&h g¥ 10 &7 €1al & &7 & g ¢l
C)3et FEar 3@ W AT A&7 fFar s geharl D)3 37 &1 ¥ §3 @d § |

Answer Key : A Your Response : Not Answered

Question No. 95
Simplify: 6 + [2(1 + 2)]
A)1 B)9
C)2 D)3

W FL: 6 + [2(1 + 2)]

A B)9
C)2 D)3
Answer Key : A Your Response : A (Correct)

Question No. 96
Who among the following won gold medal at Makran Cup boxing in Iran, 2019?
A)Manish Kaushik B)Duryodhan Singh Negi
C)Deepak Singh D)Lalitha Prasad

fArafaf@a & § Bua 2019 & $UeT & HRATSIT HFUT F9 FFharoh # Faol ygh Sfar?

A)FAAY HIfAFH B)gafu= &g asfr
C)dues &g D)etferar garg
Answer Key : C Your Response : Not Answered

Question No. 97
The moon revolves around which celestial body?
A)Comet B)Star
C)Meteor D)Earth

TgaT e @etel s & Ot 3N gEer 2

A) g#rshc(Comet) B)dRT
C)3e=T(Meteor) D)qdi
Answer Key : D Your Response : D (Correct)

Question No. 98
Two cones are such that the ratio of their volumes is 1 : 10 and ratio of their heights is 2 : 5. What is the ratio
of their base radii?
A)5:2 B)1:2
C)2:1 D)7 :25

ar o W §, oS Iae A 10 10 § 3R 3 gl v sequr 2: 5 ¥ 3T IMuR B #r
U AT HIAT

A)5 : 2 B)1 : 2

™2 -1 | ——er prvoT——— o e ~7 . 1
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Answer Key : B Your Response : B (Correct)

Question No. 99
In this question, a statement is given followed by three conclusions. Choose the conclusion(s) which best fit(s)
logically.

Statement:
H=<I<Lz2A>Q

Conclusions:

LH<L

ILH=L

n.Q<H

A)Only conclusion | is true B)Only conclusion Il is true

C)Only conclusion Ill is true D)Only conclusions Il and Ill are true

39 WA H, TF FYA F 91§ it fawwy Re arv §) 3 st 3 9o, S aiffeer & & waifts sy g

HYeT.

H=sl<Lz2A>Q

IGA-2 R
. H<L
II. H=L

. @ <H
A)Fael foshy | 3uFeRT g B)dhael forseny || 3uged g
C)anaer forsehy Il 3uged &l D)ahaer sy 11 31X 1l 397 Bl

Answer Key : A Your Response : A (Correct)

Question No. 100
If in a certain language 'KINDLE' is coded as 'ELDNIK’, how is 'EXOTIC' coded in that language?
A)CITXOE B)CIXOTE
C)CITOXE D)CXOTLE

e weh fARE gestsT # 'KINDLE' @ 'ELDNIK' for@r Siram &, 34 gestsr # 'EXOTIC' & H:& faar sdem?
A)CITXOE B)CIXOTE
C)CITOXE D)CXOTLE

Answer Key : C Your Response : C (Correct) Top
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